Fundamentals of Investing, 13e, Global Edition (Smart) 

Chapter 3   Investment Information and Securities Transactions

3.1   Learning Goal 1

1) Most brokers charge higher commissions for on-line trades than for telephone transactions.

2) On-line trading has greatly lowered the cost of buying and selling stock as well as greatly increasing the speed of transactions.

3) For most stocks, charts and tables of historical prices are only available through subscription services.

4) You can utilize the Internet to develop financial plans and goals, analyze and select individual investments and organize your portfolio.

5) An investor who mistakenly buys the wrong stock because the symbols are similar has 24 hours to undo the trade.

6) The tools and calculators available on the FINRA website are useful, but quite expensive to use.

7) Investing online is usually less expensive than traditional methods.

8) The Internet provides

I.
educational sites for financial investing.

II.
the ability to trade securities on-line.

III.
current information on stocks and bonds.

IV.
analysts reports on individual stocks.

A) II and III only

B) III and IV only

C) I, II and III only

D) I, II, III and IV

9) Individuals can use the Internet to

I.
analyze individual securities.

II.
search for stocks that meet specific investment criteria.

III.
organize their financial information.

IV.
track the performance of their portfolio.

A) I and IV only

B) II and III only

C) I, III and IV only

D) I, II, III and IV

10) Individuals can now use the Internet to buy and sell

I.
stocks.

II.
bonds.

III.
mutual funds.

IV.
stock options.

A) I and IV only

B) II and III only

C) I, II and III only

D) I, II, III and IV

11) Information that can be found on the Internet at no cost includes

I.
P/E ratios.

II.
recent news about a company.

III.
financial statements.

IV.
future earnings and stock prices.

A) I and IV only

B) II and III only

C) I, II and III only

D) I, II, III and IV

12) Which one of the following can be considered a pitfall for investors new to on-line trading?

A) On-line trading is fast and efficient.

B) On-line investors tend to trade too frequently.

C) On-line trading is available to the average investor.

D) On-line investors pay lower costs per trade than investors using a broker.

13) What are some of the tools available to investors on the internet (name at least 4)?

3.2   Learning Goal 2

1) Analytical information would include such information as estimates of growth in sales and future earnings.

2) Reviewing industry and company information may provide guidance on the future outlook of a particular firm.

3) A listing of a firm's major product lines and projections of future sales would both be considered descriptive information.

4) Descriptive information might include the company's lines of business, a list of major competitors, and recent changes in management.

5) Current price information on shares of a company's stock is often accompanied by statistics on the recent price behavior of that stock.

6) Investors who are aware of current economic, political, and market events tend to make better investment decisions.

7) Chemical Week and the Oil and Gas Journal are considered to be general business periodicals.

8) Investors can usually find the financial statements of a firm on the firm's website.

9) A "pump and dump" scheme involves buying shares of stock, hyping that stock via the Internet and then quickly selling the shares at a profit.

10) Charting is the technique of

A) plotting the performance of a security over time.

B) sorting through databases of securities to select one based on certain parameters.

C) monitoring a stock based on the underlying economic conditions.

D) determining the amount of money that must be saved based on a given financial goal.

11) Which of the following types of information will NOT be found in major urban newspapers?

A) price quotations for stocks of local interest

B) stories concerning local business leaders

C) interest rates offered by local and national banks

D) real time price quotes for widely held stocks and exchange traded funds

12) Which of the following is a general rather a financial newspaper?

A) The New York Times

B) Investor's Business Daily

C) The Wall Street Journal

D) Barron's

13) Which one of the following is NOT published by the U.S. Government?

A) Federal Reserve Bulletin

B) Survey of Current Business

C) Kiplinger Washington Letter

D) Economic Report of the President

14) Regulation FD requires simultaneous disclosure of critical information simultaneously to investment professionals and the general public with the exception of

A) brokerage firms.

B) hedge funds.

C) securities rating service such as Moody's Investor Services and Standard & Poor's.

D) mutual fund managers.

15) Which one of the following web sites should you utilize to review the financial information in a company's 10-K report?

A) freeedgar.com

B) valueline.com

C) wsj.com

D) finance.yahoo.com

16) Which of the following is usually available on a companies website?

A) brokerage reports

B) annual reports

C) back-office reports

D) red herrings

17) The published analysis and recommendations of an individual brokerage firm is called a

A) prospectus.

B) comparative data source.

C) back-office research report.

D) broker's subscription report.

18) Assume you wanted to find the most current price for Home Depot's stock. Your most likely source would be 

A) Yahoo Finance.

B) Investor's Business Daily.

C) The Granville Market Letter.

D) The Wall Street Journal.

19) Which one of the following statements about back-office research reports is FALSE?

A) They frequently include buy or sell recommendations.

B) They include analyses of current and future prospects for the securities markets.

C) They look at specific companies as well as industries.

D) They are only available to high-profile clients who maintain large accounts with the brokerage firm.

20) The Value Line Investment Survey includes which of the following reports?

I.
Selection and Opinion

II.
The Outlook

III.
Ratings and Reports

IV.
Summary and Index

A) I and II only

B) I, II and IV only

C) I, III and IV only

D) II, III and IV only

21) Subscription letters are

A) sometimes geared to specific industries and companies.

B) available free on the Internet.

C) published on an annual basis.

D) descriptive in nature but do not offer investment advice.

22) Which of the following sites is especially valuable for information concerning mutual funds?

A) www.investopedia.com

B) www.morningstar.com

C) www.moody's.com

D) www.bondsonline.com

23) Current price information is found in which of the following?

I.
Dow Theory Letters

II.
Yahoo!Finance

III.
CNBC TV website

IV.
Hulbert Financial Digest

A) II and III only

B) I, II and III only

C) II, III and IV only

D) I, II, III and IV

24) MSN Money, Yahoo! Finance, and the Motley Fool are all classified as

A) subscription services.

B) comparative data sources.

C) financial portals.

D) institutional news sites.

25) Which one of the following services provides bond ratings?

A) Standard & Poor's

B) Yahoo Finance

C) Value Line

D) Bureau of the Public Debt Online

3.3   Learning Goal 3

1) An index measures the current value of a group of stocks in relation to a base value established previously.

2) All the Standard & Poor's indexes are based on the total market values of the companies rather than on the price of a single share.

3) Both the Dow Jones Industrial Average and the Standard & Poor's 500 Index are constructed to reflect the value of shares in large, mid-size and smaller companies.

4) Standard & Poor's and Mergent both publish extensive data on bonds.

5) In addition to the Dow Jones Industrial Average, the Standard & Poors 500 and NASDAQ indexes are widely quoted measures of market performance.

6) The Value Line Index is a value weighted index based on a small sample of the 1700 stocks covered by the Value Line investment reports.

7) Stock market averages and indexes are commonly used to measure the

A) specific behavior of companies.

B) general behavior of stock prices.

C) specific behavior of alternative investments.

D) specific behavior of the economy.

8) Stock market averages reflect the arithmetic average price behavior of a group of stocks

A) at a given point in time.

B) relative to a base value set at an earlier point in time.

C) relative to other indexes.

D) relative to a base price of 100.

9) Averages and indexes differ from one another in that an index

A) is the arithmetic average price behavior of a group of stocks at a given point in time.

B) measures the current price behavior of a group of stocks in relation to a base value set at an earlier point in time.

C) is of value in-and-of itself, whereas an average must be compared to a historical figure to have any meaning.

D) always moves up before a corresponding average moves up, and always moves down before a corresponding average moves down.

10) The Dow Jones Industrial Average (DJIA) consists of 30 stocks whose price behavior

A) typically has little correlation with the rest of the stock market.

B) broadly reflects the overall price behavior of the stock market.

C) reflects the changes in value of manufacturing stocks only.

D) leads the movements in the general economy by one to two weeks.

11) Both General Electric and Goldman Sachs are part of the Dow-Jones Industrial Average.  If on a given day Goldman Sachs closes at $175 and General Electric at $25

A) the difference in price will not affect the Average.

B) the Average will include 7 shares of General Electric for each share of Goldman Sachs.

C) the effect of each stock on the Average cannot be determined without knowing the number of shares outstanding for each company.

D) the effect of changes in the price of Goldman Sachs shares will have 7 times the effect on the Average as changes in the price of General Electric.

12) The Dow Jones Industrial Average (DJIA) is based on the prices of

A) 30 stocks.

B) 100 stocks.

C) 500 stocks.

D) 200 stocks.

13) Which of the following statements about the Dow Jones Industrial Average are correct?

I.
Higher-priced stocks tend to affect the average more than lower-priced stocks.

II.
A one-point change in the DJIA correlates to a $1 change in average share value.

III.
Changes in the DJIA are made to reflect company mergers and acquisitions.

IV.
The DJIA divisor was determined when the average was created and remains constant.

A) I and III only

B) II and IV only

C) I, III and IV only

D) I, II, III and IV

14) Which one of the following statements is correct?

A) The S&P 500 Index is based on 500 large companies that trade on U.S. exchanges.

B) Because of mergers and bankruptcies, the S&P 500 Index no longer contains 500 stocks.

C) The S&P 500 Index is carefully constructed to reflect the values of large, medium and small capitalization companies.

D) The S&P 500 is based on the 500 largest U.S. companies as measured by market value.

15) Assume that the S&P 500 composite stock index closes at 2,000. This means that

A) the average stock in the index is selling for $20.00.

B) an investor would have to pay $2,000 to purchase one share of each of the stocks represented in the index.

C) The average value of a company reflected in the Index has doubled from when the Index was at 1000.

D) the share prices of the stocks in the index have risen 20 times since the 1941-1943 base period.

16) Over-the-counter market activity is reflected in the

A) Standard & Poor's composite index.

B) NASDAQ index.

C) AMEX composite index.

D) financials index.

17) The value of a Standard & Poor's Index is computed by

A) dividing the sum of the closing share prices by an adjusted divisor.

B) dividing the sum of the closing share prices by a divisor and then multiplying the quotient by 100.

C) dividing the sum of the current market value of all the stocks in the index by a divisor adjusted for changes in the companies composing the Index.

D) dividing the sum of the current market value of all the stocks in the index by a divisor that adjusts for stock splits and scales the Index figure to a manageable size.

18) EAFE stands for

A) Europe, Asia, Far East.

B) Europe, Australia, Far East.

C) England, America, Far East.

D) England, America, France, European Community.

19) Which one of the following statements is true concerning bonds?

A) A bond yield represents only the interest earned on a bond.

B) Bond yield data is more useful to an investor when compared over time.

C) A bond's yield remains constant even when a bond is sold prior to maturity.

D) Bonds with similar characteristics generally have widely disparate bond yields.

20) Which of the following indexes would best reflect the performance of a large, diversified portfolio with equal amounts of money invested in each company.

A) the S&P 500 Index

B) the Russell 3000

C) the NASDAQ 100

D) the Value Line Composite Index

21) Which one of the following indexes reflects a large sample of small, medium sized and large companies?

A) NYSE composite

B) DJIA

C) Russell 3000

D) Value Line composite

22) Which one of the following is a measure of the performance of small companies?

A) Russell 2000

B) Russell 1000

C) Russell 3000

D) Value Line 1700

23) The Dow Jones Corporate Bond Indexes is based

A) the yield to maturity of bonds in the index.

B) annual rates of return and assume the bonds were purchased one year ago and sold today.

C) the interest rates offered on a sample of newly issued bonds.

D) the closing prices of bonds in the index.

24) The Dow Jones Industrial Average and the Standard & Poor's Industrial Index have a number of similarities and differences. Discuss at least two major similarities and major differences between these two market indicators.

25) Why are market averages and indexes useful to investors?

3.4   Learning Goal 4

1) The basic function of stockbrokers is to execute client orders at the best possible price.

2) Shares of stock owned by an individual but held in a brokerage firm's name for ease of trading are said to be held in street name.

3) Trading stocks is much faster and less complicated if an individual investor has possession of the actual stock certificates.

4) Regulation FD requires that brokerage firms disclose material information such as earnings forecasts with all clients simultaneously.

5) Stocks held in street name can be quickly sold online or by telephone. 

6) Brokerage firms are not allowed to make specific buy or sell recommendations to their clients.

7) Dividends earned on securities held in street name by the brokerage are not reported to the Internal Revenue Service.

8) Which one of the following statements about stockbrokers is correct?

A) Stockbrokers act as dealers in the securities they trade.

B) Stockbrokers must be licensed by the Securities and Exchange Commission.

C) Stockbrokers are regulated by financial consultants.

D) Stockbrokers execute trades on the floor of the New York Stock Exchange on behalf of account executives.

9) Which one of the following statements concerning stock trades is correct?

A) Brokerage firms send customer orders to a market maker on the floor of the NYSE.

B) Confirmation of a trade is transmitted directly from the NYSE to the customer who placed the order.

C) A broker transmits OTC orders from a customer directly to a floor broker in the OTC market.

D) Brokerage firms generally hold securities in street name so they can be transferred without the customer's signature.

10) Unless the investor has requested another arrangement, cash from dividends and the sale of stock is normally 

A) deposited in a Money Market Account offered by the brokerage.

B) automatically reinvested in more stock.

C) direct deposited to the investor's bank account.

D) held in escrow by the brokerage until it is be reinvested.

11) Which of the following services would not be available through premium discount brokerages?

A) fast execution of trades

B) lower commissions on most trades

C) phone conversations and advice from a broker 

D) the ability to place limit and stop-loss orders

12) Which is the correct order of events when an individual buys a stock through a brokerage firm?

I.
The order is transmitted to the main office of the brokerage firm.

II.
The customer places the order with their local stockbroker.

III.
The confirmation of the order is sent to the broker placing the order.

IV.
The order is sent to the floor of the exchange.

A) I, II, III, IV

B) II, I, III, IV

C) II, IV, I, III

D) II, I, IV, III

13) Holding securities in street name

A) makes the trading of securities easier and more efficient for individual investors.

B) allows the brokerage firm to sell securities without the customers approval.

C) enables the brokerage firm to collect the stock dividends as compensation for their services.

D) means that the brokerage firm actually owns the securities.

14) A report describing the transactions in an account, listing the dividend and interest payments received, and detailing the current holdings is called a

A) prospectus.

B) red herring.

C) statement.

D) street certificate.

15) A brokerage firm which provides analyst reports, investment advice and information as well as online brokerage services is called a(n)

A) premium discount broker.

B) full-service broker.

C) basic discount broker.

D) electronic broker.

16) When deciding between a discount or full service brokerage, the investor should consider

A) trading costs.

B) her comfort level making unassisted investment decisions.

C) her awareness of potential investment opportunities.

D) all of the above.

17) Which one of the following is the LEAST important when selecting a stockbroker?

A) knowing the stockbroker personally

B) selecting a stockbroker who best understands your investment goals

C) considering the services offered and the related costs

D) getting referrals from personal acquaintances with similar investment objectives

3.5   Learning Goal 5

1) A limit order is an order to buy at the limit price or less.

2) A limit order is an order to sell at the limit price or less.

3) A stop-loss order is activated once the stock reaches the specified price.

4) When placing an order on-line, an individual investor should always double check the ticker symbol prior to submitting the order.

5) Many day traders are also margin traders.

6) Stop orders are used only when selling a stock.

7) Most day traders avoid holding stocks overnight because they fear large price changes while the markets are closed.

8) It is generally a good idea to use limit orders when trading after hours.

9) Traders who hold stocks for less than a full day can reduce the tax burden on their profits.

10) Commission structures vary with the type of security being traded, the type of broker involved and the size of the order.

11) Small investors normally have a negotiated commission schedule while large investors benefit from a fixed-commission schedule.

12) Commissions for on-line trades are considerable lower than for orders placed with a full-service broker.

13) SIPC insurance is offered by some full-service brokers to protect investors from large losses.

14) Many brokerage firms require that disputes between individual investors and brokers be settled through arbitration.

15) The Securities Investors Protection Corporation protects investors from brokers who offer incompetent advice.

16) Excessively trading a customers account to increase a stockbrokers commission income is

A) an acceptable method of timing the market to increase rates of return.

B) called churning which is an illegal practice.

C) probably unethical but yet is acceptable by the securities industry.

D) permitted provided that the customer does not object.

17) Which of the following practices is not recommended for on-line traders?

A) Double check stock symbols to be sure you are ordering the right stock.

B) Use limit orders rather than market orders, especially when trading after hours.

C) Trade as often as possible to maintain a strong relationship with the brokerage.

D) Double check your order to be sure the quantity of shares and the price is what you intended.

18) When an investor places a ________ order, he agrees to buy or sell at the best available price when the trade is executed.

A) market

B) limit

C) stop

D) stop-limit

19) An individual investor who wishes to borrow money to buy stocks must open a

A) signature account.

B) margin account.

C) joint account.

D) custodial account.

20) The current price of XUM stock is $35.  Jason places a limit order for 100 shares at $30, GTC.  The price fall so $30.05 and the rises over the course of a month to $42.

A) Jason has a gain of $1,200.

B) Jason has a gain of $1,195.

C) Jason does not own the stock, but will if his trade can ever be executed at $30.00 or better.

D) Jason has a loss of $1,195.

21) A margin account

A) can be opened by any investor who wants to purchase securities by charging them to his/her credit card.

B) allows an investor to borrow one hundred percent of the cost of the securities purchased.

C) allows an investor to borrow a portion of the purchase price at a reasonable rate of interest.

D) is permitted only in wrap accounts.

22) Which of the following are characteristics of a wrap account?

I.
a flat amount of commission per transaction

II.
an increased probability of account churning

III.
a money manager

IV.
detailed performance reports

A) I and II only

B) III and IV only

C) II, III and IV only

D) I, III and IV only

23) An odd-lot trade involves a trade

A) of only 100 shares.

B) that is generally priced at a discount to the market price.

C) of 100,000 shares or more.

D) consisting of any number of shares that is not a multiple of 100.

24) Heather places an order to buy 525 shares of stock. This is an order for

A) five round lots and one odd lot.

B) 21 round lots of 25.

C)  one odd lot.

D) five hundred round lots and twenty-five odd lots.

25) An order to sell 300 shares of ABC stock at the best available price is called a

A) limit order.

B) market order.

C) stop loss order.

D) fill-or-kill order.

26) Market orders are usually executed

A) only after all limit orders have been executed.

B) at the average price during the previous trading session.

C) at the closing price for the day's trading.

D) before the price can change significantly if the order is placed while the markets are in session.

27) McDonald's stock is now selling for $92 per share.  Kim wants to buy 100 shares but only if she can do so at $90 or less.  She should place a(n)

A) stop order.

B) market order.

C) limit order.

D) odd-lot order.

28) Which one of the following statements about limit orders is correct?

A) The execution of the trade will occur prior to the close of trading on the day the trade is placed.

B) The execution will occur at the regular open on the day following the day the trade is placed.

C) The trade may be executed only at the limit price or better at any time prior to expiration or cancellation of the order.

D) The trade will be executed at the market price at the end of the third business day, if not executed previously at the limit price. 

29) A fill-or-kill order will be

A) executed immediately upon order arrival on the floor of the exchange.

B) will be cancelled if not immediately executed at the stated price or better.

C) will be cancelled at the end of the trading day if not executed by that time.

D) in effect until cancelled by the customer who placed the order.

30) Ryan places a good-'til-canceled limit order to sell 300 shares of KM at $18 a share. When his order reaches the trading floor, KM is trading at $18.20. Which of the following statements is true concerning Roy's order?

A) The trade will not be executed and will be immediately cancelled.

B) The specialist will record the order in the order book and execute the trade as soon as the price hits $18.00.

C) The brokerage firm will sell the 300 shares at $18.20 and keep the additional $0.20 as a commission.

D) The order will be executed at $18.20 with the proceeds credited to Roy's account.

31) Which of the following statements concerning market, stop loss and limit orders are correct?

I.
Market orders guarantee both a price and an execution.

II.
Market orders guarantee an execution but not a price.

III.
Limit orders guarantee a price but not an execution.

IV.
Stop-loss orders may never be executed.

A) I and III only

B) II, III and IV only

C) I and IV only

D) II and IV only

32) On March 15, Marcos placed a good-'til-canceled order to buy 200 shares of ABC at $10 a share. ABC sold between $10.50 and $11.00 on that day. Over the following two months the stock price continued to rise and Marcos forgot about the order. After the markets closed on June 6, some bad news concerning ABC was released. The stock opened on June 7 at a price of $8.00 a share. Which one of the following statements is correct concerning Marcos' order?

A) The order was cancelled on May 15 because it had not been executed within the allowable two-month time period.

B) The order was executed on March 15 at $10.50 a share since that was the best available price of the day.

C) The order was executed on June 7 at a price of $10.00 a share.

D) The order was executed on June 7 at a price of $8.00 a share.

33) Which one of the following statements is correct about a good-'til-cancelled order?

A) The order generally expires after six weeks.

B) The order will automatically renew unless cancelled by the customer.

C) The order helps customers obtain a specific price without watching the market continuously.

D) The order will be cancelled at the end of the trading day if not executed.

34) On October 12, Kevin placed a day order to purchase 100 shares of ABC stock at $21 a share. During the day, the stock sold at prices ranging from $21.01 to $22.49. Over the following month the stock sold in a range of $21.60 to $23.05. On December 2, the market declined radically and the price of ABC stock dropped to $19.94. Which one of the following statements is correct concerning Allen's order?

A) The order was never executed.

B) The order was executed at $21.01 per share.

C) The order was executed at $22.49.

D) The order was executed at $19.94.

35) Ryan bought a stock three years ago for $6 a share. Today, June 22, the stock is selling for $72 a share. Ryan is afraid that the price will fall and does not want to lose his profits so he places a stop-loss order to sell at $70. The stock sells between $71 and $75 throughout the remainder of the day on June 22. On the morning of June 23, the stock opens at $9 a share based on rumors of a possible bankruptcy due to inappropriate accounting procedures. Which one of the following statements is true concerning this situation?

A) Ryan was able to sell his stock for $70 a share thereby protecting his profits.

B) Ryan's stock was sold for $9 a share causing him to lose most of his profits.

C) Ryan still owns his shares of stock since his order was never executed at the $70 price.

D) Ryan received a call from the specialist asking him what he wanted to do about his order.

36) Three years ago, Emily bought 200 shares of HQ at $27.00 per share.  HQ shares have risen to $57.50 per share.  If the stock continues to rise, she wants to hold it, but she fears that the price could fall quickly and she will lose most of her profit.  Which of the following decisions would be best?

A) Place a limit order to sell at $60.00.

B) Place a stop-limit order at $55.00.

C) Place a stop-loss order at $27.00.

D) Place a stop-loss order at $55.00.

37) Mike bought 200 shares of EG stock two years ago at $16 per share. The stock has traded in a range of $21 to $44 a share over the past year. EG is now selling for $43.60 a share. EG announces its earnings today and Mike feels the stock could go to $60 on good news or fall to $30 on bad.  To protect his profits, the most appropriate order for him to place is

A) market order to sell immediately.

B) a limit sell order at $60.00.

C) a stop loss order at $42.

D) a stop-limit order to sell at $45.

38) Angela placed a stop-limit order to sell 100 shares of RST stock at $28 when the market price of RST was $31. Shortly after Angela placed her order, trading on RST was halted due to a pending news announcement. When trading re-opens RST is priced at $24 a share. Within minutes the price of RST began to drop further until it reached $19 a share. Which one of the following statements is correct concerning Angela's stop-limit order to sell?

A) Angela's stock was sold for $28 a share.

B) Angela's stock was sold for $24 a share.

C) Angela's stock was sold at a price between $19 and $24 a share.

D) Angela still owns her 100 shares of stock.

39) At 10:45 a.m., Ashley placed a stop-loss order to sell 200 shares of Alpha stock at $43 a share. At 2:15 p.m., the price of Alpha fell to $42.90 and then rose to $43.40 a share by the end of the trading day. Ashley order was executed that day. Ashley would have received a price

A) of $42.90 a share for her stock since her order was already recorded in the specialist's book.

B) of $43.40 a share for her stock since that was the closing price on the day of execution.

C) between $42.90 and $43.40 a share depending upon when her trade executed.

D) equal to the average prices paid by the specialist during that trading day.

40) Which of the following statements concerning day traders are correct?

I.
Day traders generally do not hold securities over night.

II.
Day trading is a relatively low risk approach to investing.

III.
Some day traders sell stocks short.

IV.
Day trading was declared illegal by the Market Stabilization Act of 2002.

A) I and II only

B) I and III only

C) I, II and IV only

D) II, III and IV only

41) The Securities Investor Protection Corporation insures individual investors against

A) the loss of up to $500,000 in securities or $100,000 in cash held by a broker.

B) market losses of $500,000 total or $100,000 per transaction.

C) losses of up to $100,000 incurred due to innocent online trading errors.

D) losses incurred up to $500,000 due to churning by a broker.

42) In which of the following cases might an investor receive help from The Securities Investor Protection Corporation?

A) The investor purchased a stock at $40 per share because his broker recommended it.  Over the next six months, it fell to $20 per share.

B) The investor purchases stock in a company that shortly later was forced into bankruptcy because of accounting fraud.

C) The investor holds $100,000 worth of stock in certificate form.  The certificates are destroyed in a fire.

D) A broker took money sent by investors to cover stock purchases, but never invested it and sent falsified statements to cover the fraud.

43) An informal, voluntary agreement to solve disputes between an investor and his/her broker by utilizing a person to facilitate negotiations between the two parties is called

A) voluntary arbitration.

B) binding arbitration.

C) mediation.

D) litigation.

44) Describe several appropriate uses of stop-loss orders.

45) When is it appropriate to use limit orders?

3.6   Learning Goal 6

1) Chartered Financial Analysts and Certified Financial Planners must pass a rigorous series of exams, as well as meet educational and experience requirements.

2) A person can become a Certified Financial Planner merely by filling out an application and paying an annual fee.

3) Investment clubs are legal partnerships.

4) Investment clubs may only operate under the guidance of a registered investment advisor.

5) Investment advisors are legally responsible for losses incurred by their clients.

6) Which of the following designations does NOT have formal education and testing requirements?

A) Chartered Financial Analyst

B) Certified Financial Planner

C) Registered Investment Adviser

D) Certified Public Accountant

7) Recent studies suggest that, on average, investments clubs

A) outperform broad market indexes by several percentage points.

B) underperform broad market indexes by a several percentage points.

C) earn average rates of return.

D) no data is available on investment club performance.

8) Which of the following is required by the Investment Advisers Act to disclose their background and any conflicts of interest?

A) professional investment advisers

B) accountants and lawyers

C) stockbrokers 

D) all of the above

9) Which of the following are advantages of investment clubs?

I.
Small investors can pool their money to build a portfolio.

II.
Members can share research responsibilities.

III.
Individual members may have different goals and tolerance levels for risk.

IV.
Investment clubs typically buy stocks for the long term rather than short term profits.

A) I and III only.

B) III and IV only.

C) I, II and IV only

D) I, II, III and IV
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Chapter 4   Return and Risk 

4.1   Learning Goal 1

1) Investors can be confidently predict future returns on an investment by studying its past performance.

2) An investment that has earned a high rate of return over the last 5 years will not necessarily continue to perform well in the future.

3) Meaningful measures of an investment's return must consider both income and capital gains.

4) In response to the same external force, the return on one investment may increase while the return on another investment may decrease.

5) In the short term, stock prices tend to rise as inflation rises.

6) When investors expect higher inflation, they will generally require higher rates of return.

7) A capital loss is computed by

A) subtracting the original cost of an investment from the proceeds received from the sale of that investment minus any income from the investment.

B) subtracting the original cost of an investment from the proceeds received from the sale of that investment plus any income from the investment.

C) subtracting the proceeds received from the sale of an investment from the original cost of the investment.

D) subtracting the original cost of an investment from the proceeds received from the sale of that investment.

8) Rational investor's are motivated to purchase an asset because of its 

A) expected returns.

B) past returns.

C) emotional benefits.

D) all of the above.

9) The most predictable component of stock returns is 

A) capital gains.

B) capital losses.

C) inflation adjusted return.

D) dividend income.

10) Kelly bought a stock at a price of $22.50. She received a $1.75 dividend and sold the stock for $24.75. What is Kelly's capital gain on this investment?

A) $4.00

B) $3.75

C) $2.25

D) $1.75

11) Ashley purchased a stock at a price of $27 a share. She received quarterly dividends of $0.75 per share. After one year, Ashley sold the stock at a price of $29.25 a share. What is her percentage holding period return on this investment?

A) 10.3%

B) 11.1%

C) 17.9%

D) 19.4%

12) Inflation tends to have a particularly negative impact on the price of 

A) real estate.

B) bonds.

C) gold.

D) crude oil.

13) Historically, what is the correct ranking of the following securities from lowest rate of return to the

 highest?

A) Short-term government bills, long-term government bonds, stocks.

B) Long-term government bonds, short-term government bills, stocks.

C) Stocks, short-term government bills,long-term government bonds.

D) Historical returns do not exhibit a consistent pattern.

14) Which of the following internal characteristics should cause investors to expect the highest rate of return?

A) a steady record of past dividends

B) interest and principal guaranteed by the U.S. government

C) a record of excellent management and consistent dividend payments

D) poor management and excessive use of debt financing

15) Which of the following investments may be impacted by government actions?

A) stocks

B) corporate bonds

C) government bonds

D) all of the above

16) Over the long term, which one of the following has historically had the lowest risk and lowest average annual rate of return?

A) common stock

B) long-term government bonds

C) real-estate

D) corporate bonds

4.2   Learning Goal 2

1) The financial concept of time value of money is dependent upon the opportunity to earn interest over time.

2) Compound interest is interest paid not only on the initial investment but also on any interest earned after the initial investment.

3) An investor who requires a 7% rate of return should be willing to pay $934.58 now to receive $1,000 at the end of one year.

4) The holding period return includes the time value of money.

5) If the discount rate is appropriate for the level of risk, a satisfactory investment will have a present value of benefits equal to or greater than than the present value of costs.

6) An investment's internal rate of return does not depend on the rate at which income from the investment is reinvested.

7) The time value of money concept best supports the idea of

A) the sooner the better.

B) better late than never.

C) a bird in hand is worth two in the bush.

D) good things come to those who wait.

8) The present value of $10,000 discounted at 5% per year and received at the end of 5 years is

A) $10,000/1.25.

B) $10,000(1.05)5.

C) $10,000/(1.05)5.

D) $10,000 (1.05)1/5.

9) Bob's house has doubled in value since he bought it 30 years ago. The house's value has increased by an annual rate of

A) 2.34%.

B) 3.33%.

C) 6.67%.

D) 100%.

10) Which one of the following statements is correct concerning the time value of money?

A) The future value of $1 at the end of two years is equal to $1 plus the first year's interest times 1 plus the annual interest rate.

B) As the interest rate increases for any given year, the future value interest factor will decrease.

C) The future value of $1 decreases with the passage of time.

D) The future value interest factor is equal to zero if the interest rate is zero.

11) Christopher invests $400 today at a 4% rate of return which is compounded annually. What is the future value of this investment after four years?

A) $342

B) $416

C) $464

D) $468

12) Roy is going to receive a payment of $5,000 one year from today. He earns an average of 6% on his investments. What is the present value of this payment?

A) $4,717

B) $4,821

C) $5,000

D) $5,300

13) Which of the following statements are correct concerning the present value of $1.00 five years from today discounted at 5%?

I.
The present value is equal to $1.00 divided by 1.05 to the 5th power. 

II.
If the discount rate were less than 5%, the present value would be smaller.

III.
If the discount rate were more than 5%, the present value would be smaller.

IV.
If the $1.00 were to be received 6 years from today, the present value would be larger.

A) I and II only

B) I and III only

C) II and III only

D) I, III and IV only

14) Camille purchased a bond 5 years ago for $1,050.  The bond paid $50 in annual interest and returned the $1,000 principal at the end of the fifth year.  Camille used the interest payment to pay for college textbooks.

A) Her internal rate of return was exactly than 5%.

B) Her internal rate of return was greater than 5%.

C) Her internal rate of return was less than 5%.

D) Her internal rate of return cannot be determined.

15) When calculating the present value of either a future single sum or a future annuity, the applicable interest rate is usually called the

A) yield to maturity.

B) compound interest rate.

C) internal rate of return.

D) discount rate.

16) When the rate of return is equal to the discount rate 

A) the present value of an investment's benefits must be greater than its cost.

B) the cost of an investment equals the sum of its benefits.

C) the cost of an investment equals the future value of its benefits.

D) the cost of an investment equals the present value of its benefits.

17) If the present value of an investment's benefits equals the present value of the investment's costs, then the investor would earn a

A) return equal to the discount rate.

B) negative rate of return.

C) 0% rate of return.

D) return greater than the discount rate.

18) The present value of $1,000 discounted at the rate of 5% per year, to be received at the end of 3 years is equal to 

A) $1,000/(1.03)5.

B) $1,000/(1.05)3.

C) $1,000 × (1.05)3.

D) $1,000 - ($1,000) × .03 × 5.

19) Zachary has purchased an investment that he expects to produce income of $3,000 at the end of the first year and $4,000 at the end of the second year.  If he requires an 8% rate of return compounded annually, what is the maximum amount that he can pay and still earn the required rate of return?

20) Zachary has purchased an investment that he expects to produce income of $3,000 at the end of the first year and $4,000 at the end of the second year.  If he pays $5,800 for this investment, what is the internal rate of return?

4.3   Learning Goal 3

1) The return that fully compensates for the risk of an investment is called the risk-free rate of return.

2) The required return on a risky investment includes a real rate of return, an inflation premium and a risk premium.

3) If the risk-free rate of return is less than the inflation rate, the real rate of return is negative.

4) It is not possible for the nominal risk-free rate of return to be lower than the rate of inflation.

5) Short-term U. S. Treasury bills are yielding 0.5%.  The expected inflation rate is 2%.  Therefore, the real rate of interest must be negative 1.5%.

6) One reason that the holding period return should not be used to compare long-term investments is that it does not consider the time value of money.

7) The holding period return is especially useful comparing investments with unequal holding periods.

8) The closest approximation to the real, risk-free rate of interest is

A) the short-term Treasury bill rate plus the inflation rate.

B) the short-term Treasury bill rate minus the inflation rate.

C) the 10 year Treasury bond rate minus the inflation rate.

D) the 10 year Treasury bond rate minus the 1 year Treasury bill rate. 

9) The risk-free rate is equal to the real rate of return plus

A) an expected inflation premium.

B) a risk premium.

C) both an inflation and a risk premium.

D) the prevailing prime rate.

10) The markets in general are paying a 2% real rate of return. Inflation is expected to be 3%. ABC stock commands a 6% risk premium. What is the expected rate of return on ABC stock?

A) 2%

B) 5%

C) 8%

D) 11%

11) The required rate of return on the Cosmos Corporation's common stock is 10%, the current real rate of return in the market is 1%, and the inflation rate is 3%. In this case, the risk premium associated with Cosmos stock is

A) 5%.

B) 6%.

C) 7%.

D) 8%.

12) Which one following will lower required rates of return?

A) higher rates of inflation

B) higher risk premiums

C) lower rates of inflation 

D) lower dividend yields

13) The required return on Beta stock is 14%. The risk-free rate of return is 4% and the real rate of return is 2%. How much are investors requiring as compensation for risk?

A) 8%

B) 10%

C) 12%

D) 14%

14) Which of the following is(are) issue characteristics of an investment?

I.
type of investment such as stocks or bonds

II.
financial condition of the issuer

III.
coupon or dividend payments

IV.
time to maturity

A) I and II only

B) III only

C) I, III and IV only

D) I, II, III and IV

15) A holding period return is calculated by adding the current income to the capital gains and dividing this sum by the

A) average investment value.

B) beginning investment value.

C) total income received.

D) selling price of the investment.

16) Lauren purchased a stock for $28 a share and sold it six months later for $31. While she owned the stock, Lauren received two quarterly dividends of $0.35 per share. Brittany's holding period return on this stock is

A) 13.2%.

B) 10.7%.

C) 11.9%.

D) 26.4%.

17) In which of the following circumstances would it be most appropriate to use the holding period return?

A) to compare the capital gains on a house held for 8 years and a mutual fund held for 6 years

B) to compare the calendar year performance of stocks purchased in March to stocks purchased in September

C) to compare the dividend yield of stocks to the interest rate on bonds

D) to compare the performance of several stocks, each of which was held throughout an entire year

18) Christopher purchased 200 shares of ABC stock at $21.25 per share. After nine months, he sold all of his shares at a price of $19.88 a share. Christopher received a total of $0.55 per share in dividends during the time he owned the shares. Jake's holding period return is

A) -6.4%.

B) -3.9%.

C) 2.6%.

D) 9.7%.

19) The holding period return (HPR) can appropriately be used to

A) compare the yield on investments held for any time period.

B) compare returns among investments that are held for the same period of time.

C) isolate realized capital gains.

D) determine the required reinvestment rate for long-term investments.

20) Jason purchased ABC stock at $40 per share and DEF stock at $35 per share on the same day in 2015.  Exactly 6 months later, the ABC stock is worth $42.00 per share and has not paid a dividend while the DEF stock is worth $36 per share and has paid 2 quarterly dividends of $0.50 each.  The holding period returns are

A) ABC, $2.00 and DEF $2.00.

B) ABC 5% and DEF 2.9%.

C) ABC 5% and DEF 5.7%.

D) The holding period return cannot be determined because we do not know the discount rate.

21) Briefly explain the holding period return (HPR) and give several characteristics of this measure.

4.4   Learning Goal 4

1) The internal rate of return is the rate of return that causes a project to have a zero net present value.

2) The internal rate of return on an investment is the discount rate that produces a present value of benefits greater than the cost of the investment.

3) The internal rate of return is a less meaningful measure of an investment's performance than holding period return if the holding period is other than 1 year.

4) The present value of an investment must be computed by discounting cash flows at the internal rate of return.

5) When using a financial calculator or electronic spreadsheet to calculate an investment's yield, the amount invested is expressed as a negative number.

6) The internal rate of return is the correct method to use when an investor wants to determine an investment's average annual yield.

7) If you own an investment providing periodic returns, your actual yield on the investment will depend on the reinvestment rate you are able to obtain.

8) A suitable investment should have an internal rate of return equal to or greater than its required rate of return.

9) When computing an investment's internal rate of return using a financial calculator or spreadsheet such as Excel, which of the following should be entered as a negative number?

A) the number of time periods

B) dividend or interest payments

C) the price at which the investment is sold

D) the initial cost of the investment

Table 1

	
	A
	B

	  1
	Year
	Cash Flow

	2
	1
	$(5,000)

	3
	2
	$4,000

	4
	3
	$3,000


10) Given a spreadsheet similar to the one shown in Table 1, the command to compute the internal rate of return would be 

A) =RATE(3,B3,B4,B2).

B) =IRR(B2:B4).

C) =IRR(B3:B4)-B2.

D) =TVM(A2:B4).

11) Six years ago, Miguel invested $3,500. Today his investment is worth $5659. The internal rate of return on this investment is

A) -7.69%.

B) error 5.

C) 8.34%.

D) 10.28%.

12) Alexis bought a stock for $34 a share two years ago. The stock does not pay any dividends. Today she sold the stock for $28.50 a share. What was her internal rate of return on this investment?

A) 9.22%

B) -9.22%

C) 19.30%

D) -8.44%

13) An investment costs $3,500 today. This investment is expected to produce annual cash flows of $1,200, $1,400, $1,300 and $1,100, respectively, over the next four years. What is the internal rate of return on this investment?

A) 8.1%

B) 9.33%

C) 14.6%

D) 16.2%

14) The following investment cash flows have been entered into cells B5 through B9 of an EXCEL spreadsheet. B5 $(5,200 ), B6 $2,100, B7 $1,300, B8 $1,800, B9 $1,200, where $(5,200) is the cost of the investment and the following amounts are cash flows at the end of years one through four.  The correct function for computing the yield on this investment is

A) =irr(B6:B9)+B5.

B) =irr(B5:B9).

C) =rate(4,0,-5200, 1200).

D) =ytm(B5, B6:B9).

15) The Sorka Corp. has paid annual dividends of $0.60, $0.63, $0.65, $0.68 and $0.72, respectively, over the past five years. What is the dividend growth rate?

A) 4.7%

B) 5.2%

C) 5.4%

D) 5.9%

16) If a stock is purchased at the beginning of a year, a single dividend is paid at the end of the year and the stock is sold immediately after the dividend has been received.  In this case

A) the internal rate of return is lower than the holding period return.

B) the holding period return. is lower than the internal rate of return.

C) it is not possible to calculate the internal rate of return.

D) the internal rate of return equals the holding period return.

17) Ryan purchased a bond for $980 at the beginning of 2011.  He received annual interest payments of $55 at the end of each year through 2016 when the bond was redeemed at its face value of $1,000.  Compute the yield (internal rate of return) Ryan earned on his bond purchase.

A) 5.50%

B) 5.61%

C) 5.91%

D) .34%

18) Josh purchased 100 shares of XOM at the beginning of 2011.  He received dividends per share of $1.37 (2011), $1.55 (2012), $1.66 (2013), $1.74 (2014), $1.85 (2015).  At the end of 2015, just after receiving the last dividend, he sold the stock for $84.76.  At what rate did the dividends grow from the end of 2011 to the end of 2015?  Assume that all dividends were received at the end of the year.

A) 7.8%

B) 6.2%

C) 13.1%

D) 35%

19) Josh purchased 100 shares of XOM for $76.63 per share at the beginning of 2011.  He received dividends per share of $1.37 (2011), $1.55 (2012), $1.66 (2013), $1.74 (2014), $1.85 (2015).  At the end of 2015 just after receiving the last dividend, he sold the stock for $84.76.  What was his average annual rate of return form both dividends and capital gains? (Hint: compute the IRR, assume that all dividends were received at the end of the year.)

A) 9.831%

B) 3.774%

C) 3.423%

D) 4.94%

20) Samantha bought a stock one year ago for $66 a share. She received a total of $2.00 in dividends. Today she sold the stock for $70 a share. Which one of the following statements is correct concerning this investment?

A) Samantha has current income of $6.00.

B) Samantha has a capital gain of $2.00.

C) Samantha has a total return of 9.1%.

D) Samantha has unrealized income of $4 a share.

21) Explain the similarities and differences between the holding period return and the internal rate of return.

22) Josh purchased 100 shares of XOM for $76.63 per share at the beginning of 2007.  He received dividends per share of $1.37 (2007), $1.55 (2008), $1.66 (2009), $1.74 (2010), $1.85 (2011).  At the end of 2011, just after receiving the last dividend, he sold the stock for $84.76.  What was his average annual rate of return form both dividends and capital gains? (Hint: compute the IRR, assume that all dividends were received at the end of the year.)

4.5   Learning Goal 5

1) Risk can be defined as uncertainty concerning the actual return that an investment will generate.

2) Business risk resulting from uncertainty over a firm's earnings is a concern for stockholders, but not for debt holders.

3) Lower risk investments are associated with lower expected rates of return.

4) The reluctance of Congress to tinker with tax rates and deductions has virtually eliminated tax risk for U.S. businesses.

5) Business risk is the risk associated with the amount of debt financing used by a firm.

6) Investing in short-term debt decreases exposure to interest rate risk.

7) Investors who limit themselves to risk free and low risk investments can avoid purchasing power risk.

8) Liquidity risk is defined as the risk of

A) having to trade a security in a broad market.

B) not being able to sell an investment conveniently and at a reasonable price.

C) having inflation erode the purchasing power of your investment.

D) having declining price levels affect the reinvestment rate of your current income stream.

9) In some markets it may take many months to sell a residential property.  This is an example of

A) business risk.

B) credit risk.

C) market risk.

D) liquidity risk.

10) The stock of Plomb Co. falls sharply on news that its CEO has drowned in a boating accident while on vacation.  This is an example of 

A) liquidity risk.

B) event risk.

C) accidental risk.

D) flotation risk.

11) As gasoline prices fell in 2015, sales of hybrid and electric vehicles dropped sharply.  This is an example of 

A) liquidity risk.

B) event risk.

C) business risk.

D) purchasing power risk.

12) A petroleum refinery in the Gulf region is forced to shut down for several months because of hurricane damage.  This is an example of

A) market risk.

B) speculation.

C) event risk.

D) business risk.

13) A business has strong sales and profits, but its stock price falls anyway because stock prices in general are declining.  This is an example of

A) business risk.

B) financial risk.

C) market risk.

D) liquidity risk.

14) Congress considers a bill that would eliminate the mortgage interest deduction for individuals.  For the housing industry, this is an example of 

A) tax risk.

B) interest rate risk.

C) business risk.

D) event risk.

15) Which of the following will lower the rate of return on a stock whose price has doubled since you bought it?

A) an increase in the capital gains tax from 15% to 20%

B) an increase in the tax rate on dividend income from 15% to 20%

C) persistently low inflation rates

D) the Federal Reserve acts to lower interest rates

16) Which of the following factors will increase the risk level of an investment?

I.
a firm's decision to use a high percentage of debt financing

II.
an economic situation in which consumer prices are rising at a rapid rate

III.
the ability to trade the investment in a broad market rather than in a thin market

IV.
unstable currency values

A) I and II only

B) I, II and IV only

C) II and IV only

D) I, III and IV only

17) Identify and discuss five sources of risk.

18) Which types of risk can not be avoided by carefully researching a company's business prospects and financial statements?

4.6   Learning Goal 6

1) The standard deviation is computed by dividing the sum of the squared deviations by the number of observations.

2) Historical returns are of no use in estimating the risk of an investment.

3) The greater the dispersion around an asset's expected return, the greater the risk.

4) Investments with lower standard deviations can be expected to produce higher rates of return.

5) Historically speaking, the standard deviation of returns on U.S. Treasury Bills is zero.

6) Most investors are risk averse, meaning they will always be willing to sacrifice higher return if they can avoid risk.

7) Each of the following investments produces the same rate of return. Which one has the greatest amount of risk?

A) investment A with a standard deviation of 4%

B) investment B with a standard deviation of 12%

C) investment C with a standard deviation of 8%

D) investment D with a standard deviation of 19%

8) An investment produced annual rates of return of 5%, 12%, 8% and 11% respectively over the past four years. What is the (sample) standard deviation of these returns?

A) 2.7%

B) 3.2%

C) 3.6%

D) 3.8%

9) An investment produced annual rates of return of 7%, -14%, 20% and 4% respectively over the past four years. What is the standard deviation of these returns?

A) 12.1%

B) 14.0%

C) 1.5%

D) 7.0%

10) Which of the following choices is in the correct order from less risk to more risk?

A) corporate bonds, certificates of deposit, mutual funds that invest in stock, common stock

B) certificates of deposit, corporate bonds, common stock, mutual funds that invest in stock

C) certificates of deposit, mutual funds that invest in stock, common stock, corporate bonds

D) certificates of deposit, corporate bonds, mutual funds that invest in stock, common stock

11) An investment produced annual rates of return of 4%, 8%, 14% and 6%, respectively, over the past four years. What is the standard deviation of these returns?

A) 3.7%

B) 4.1%

C) 4.3%

D) 4.6%

12) Which of the following statements about the standard deviation are correct?

I.
The standard deviation is a measure of relative dispersion.

II.
Standard deviations should be in conjunction with expected returns to compare investments.

III.
The standard deviation is calculated by taking the square root of the variance.

IV.
The higher the standard deviation of an investment, the lower its risk.

A) I and IV only

B) II and III only

C) I, III and IV only

D) I, II and III only

13) The expected rate of return and standard deviations, respectively for four stocks are given below:

ABC
9%, 3%

CDE
11%, 9%

FGH
12%, 8%

IJK
14%, 10%

Which stock is clearly least desirable?

A) ABC

B) CDE

C) FGH

D) IJK

14) The expected rate of return and standard deviations, respectively for four stocks are given below:

OPQ
11%, 8%

RST
11%, 9%

UVW
12%, 10%

XYZ
12%, 8%

Which stock is clearly most desirable?

A) OPQ

B) RST

C) UVW

D) XYZ

15) Most investors are risk-averse, which means they

A) refuse to accept any financial risk.

B) invest only in government insured securities.

C) require an increase in return for any increase in risk.

D) gain satisfaction from the excitement of risk.

16) Which of the following should be considered when deciding among alternative investments?

I.
time value of money

II.
risks associated with each investment

III.
risk free rate of return

IV.
personal risk tolerance level

A) I and II only

B) III and IV only

C) I, II and IV only

D) I, II, III and IV

17) Explain the relationship between risk, the expected rate of return and the actual rate of return.

18) Over the past 4 years, the annual rates of return on stock of Brown & Warren Inc. have been -2%, 4%, 14% and 6%, respectively, over the past four years. Compute the standard deviation of these returns.

4.7   Appendix 4A The Time Value of Money

1) Sydney invested $10,000 for an indefinite period at 5% per year.  At the end of each year, she receives a $500 check for interest earned.  This type of account pays simple interest.

2) For a given stated rate of interest, a sum compounded monthly will earn more interest than a sum compounded annually.

3) An ordinary annuity is defined as an annuity for which the cash flows occur at the beginning of each year or payment period.

4) To calculate the interest rate or growth rate using a spreadsheet or financial calculator, the present value and the future value most have opposite signs.

5) There is no limit to the increase in the true rate of interest as compounding becomes more frequent.

6) When using a financial calculator to compute the present value of a lump sum, the future value is entered as PMT.

7) Justin invests $4,000 in a savings account for two years. The account pays 2% interest compounded annually.  How much interest income will Justin earn on this investment?

A) $80.00

B) $81.60

C) $160.00

D) $161.60

8) Justin invests $4,000 in a savings account for two years. The account pays 2% interest compounded annually.  How much money will be in the account at the end of the second year?

A) $4,161.60

B) $4,160.00

C) $4,080.00

D) $1,161.60

9) Which one of the following is an example of an annuity?

A) the receipt of $50 in January, March, April, June, August, September and December

B) the payment of $259 a month for three consecutive years

C) the payment of $389 in January, $200 in February, and $200 in March

D) the receipt of $100 a month for three months and then $150 a month for two months

10) Which is most true of an annual rate of 4% compounded quarterly?

A) It is equivalent to 4.4% paid annually.

B) It is equivalent to 16.99% paid annually.

C) It is equivalent to 1% simple interest paid quarterly

D) It is equivalent to 4.06% paid annually.

11) The maximum rate of return that can be earned for a given rate of interest occurs when interest is compounded

A) annually.

B) daily.

C) monthly.

D) continuously.

12) If you invest $2,000 at the end of each year for five years and you earn 7% interest compounded annually, how much will you have accumulated at the end of the fifth year?

A) $10,700

B) $11,501

C) $12,307

D) $14,026

13) Taylor has saved $400 at the end of every month for the last 4 years with the intention of paying cash for a new car.  She has earned a fixed annual rate of 4% over the 4 year period; interest is compounded monthly.  How much can she pay for her new car at the end of the fourth year?

A) $20,784

B) $55,705

C) $17,716

D) $22,272

14) Assume that $100 is deposited at the end of each year for five years at 10% compound interest and that no withdrawals are made over the five-year period. Based on this data, which one of the following statements is correct?

A) The future value will be $550.

B) The present value can be determined by computing the present value of $500 in five years at 10%.

C) The present value can be determined by computing the present value of a $100 ordinary annuity for five years at 10%.

D) The present value will be $500.

15) David has purchased an investment that he expects to produce an annual cash flow of $3,000 for five years. He requires an 8% rate of return compounded annually. What is the maximum amount that David can pay and still earn the required rate of return?

A) $19,008

B) $15,000

C) $14,764

D) $11,978

16) Jeremy purchased 100 shares of FB for $19 per share in September 2012 and sold them 3 years later at $91 per share.  At what annual rate did the value of his investment grow?

A) about 95%

B) about 48%

C) about 69%

D) about 12%

17) To compute the present value of $1,000 annuity received at the end of each of the next three years and discounted at the rate of 5% per year, you should enter the following variables into a financial calculator.

A) N=3, i=5, PMT=1000

B) N=3, i=5, FV=3000

C) N=3, i=15, PMT=1000

D) N=1, i=5, PMT=3000

18) To compute the present value of $1,000 annuity received at the end of each of the next three years and discounted at the rate of 5% per year, you should use which of the following EXCEL commands?

A) ANN

B) TVM

C) RATE

D) PV
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